SANITARY SEWER PLANT VALUE

(Schedule 'A' / Sanitary Structures)

6002 Cottage Grove Rd Rezoning (Copps) #2331

53B2331

STRUCTURES

	Quantity	Unit	Unit Cost	Total Cost
Description 4' DIA	5	EACH	\$ 2,041.36	
Engineering @ 10%	J	L/(OI1	Ψ 2,0+1.50	\$ 10,206.79 \$ 1,020.68
Total Cost	<u> </u>		\$ 2,245.49	\$ 11,227.47
				
Engineering @ 10%				
Total Cost				
	1			
Engineering @ 10%				
Total Cost		L		
Engineering @ 10%				
Total Cost		<u></u>		
Francisco vines @ 100/				
Engineering @ 10% Total Cost				
		<u></u>		
Engineering @ 10%	 	-		
Total Cost				
		 -		
Engineering @ 10%	<u> </u>			
Total Cost				
		 -		
Engineering @ 10%				
Total Cost				
		 _		
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost		<u></u>		
Frankranian & 100/				
Engineering @ 10% Total Cost		ļ		
Total Cost				
Engineering @ 10%				
Total Cost	 	-		
		 		
Engineering @ 10%	1			
Total Cost				
	1			
Engineering @ 10%	İ			
Total Cost	<u></u>			<u>L</u>
Engineering @ 10%				
Total Cost				L
Engineering @ 10%				
Total Cost	<u> </u>	L		L
GRAND TOTAL COST				\$ 11,227.47

Prepared By:
Date:

Total \$ 54,778.10

SANITARY SEWER PLANT VALUE

(Schedule 'A' / Sanitary Pipes)

6002 Cottage Grove Rd Rezoning (Copps) #2331

53B2331

PIPES

PIPES				T 11 11 A	
	Description	Quantity	Unit	Unit Cost	
8" PVC		604	LF	\$ 65.55	\$ 39,591.48
Engineering @	10%				\$ 3,959.15
Total Cost				\$ 72.10	\$ 43,550.63
					f — — — — — — — — — — — — — — — — — — —
Engineering @	10%				
Total Cost				1	
					† — — — — — — — — — — — — — — — — — — —
Engineering @	10%				
Total Cost					
					†
Engineering @	10%				
Total Cost	1070				
70107 0001					
Engineering @	100/				
Total Cost	1078				
Total Cost					
Engine a site at @	100/				
Engineering @	10%				
Total Cost					ļ
Engineering @	10%				
Total Cost					<u></u>
Engineering @	10%				
Total Cost					
					T
Engineering @	10%				
Total Cost					
					† — — — — — — — — — — — — — — — — — — —
Engineering @	10%				
Total Cost					
					↑ −−−−
Engineering @	10%				
Total Cost	,				
70107 0001					
Engineering @	10%				
Total Cost	1078				
i ciai cost					!
Francis a a visa a a	400/				
Engineering @	10%				
Total Cost					↓
Engineering @	10%				
Total Cost					<u> </u>
Engineering @	10%				
Total Cost					
厂————					T
Engineering @	10%				
Total Cost					†
					<u></u>
GRAND TOTA	L COST				\$ 43,550.63
L					
				·	

Prepared By:	
Date:	

STORM SEWER PLANT VALUE

(Schedule 'A' / Storm Structures)

6002 Cottage Grove Rd Rezoning (Copps) #2331

53B2331

STRUCTURES

Description	Quantity	Unit		Jnit Cost		Total Cost
15" RCP Apron End	1	EACH	\$	426.85	\$	426.85
Engineering @ 10%					\$	42.69
Total Cost			\$	469.54	\$	469.54
15" Pipe Gate		EACH	\$	643.24	\$	643.24
Engineering @ 10%					\$	64.32
Total Cost			\$	707.56	\$	707.56
2x2 Storm Structure(H Inlet)	9	EACH	\$	997.57	\$	8,978.13
Engineering @ 10%					\$	897.81
Total Cost			\$	1,097.33	\$	9,875.94
3x3 Storm Structure	13	EACH	\$	2,048.18	\$	26,626.34
Engineering @ 10%					\$	2,662.63
Total Cost			\$	2,253.00	\$	29,288.97
4x4 Storm Structure	1 1	EACH	\$	2,686.73	\$	2,686.73
Engineering @ 10%					\$	268.67
Total Cost			\$	2,955.40	\$	2,955.40
Engineering @ 10%	1	+				
Total Cost		<u> </u>				
Engineering @ 10%		<u> </u>				
Total Cost		+	-	1		
Total Cost	·	+			-	
Engineering @ 10%						
Total Cost					_	
Engineering @ 10%						
Total Cost						
Engineering @ 10%		<u> </u>				
Total Cost						
Engineering @ 10%				1		
Total Cost		 			 	
Engineering @ 10%						
Total Cost						
Engineering @ 10%	1	+				
Total Cost	<u> </u>	<u> </u>				
Engineering @ 10%	_ _					
Engineering @ 10% Total Cost	+		\vdash			
	·	+			 —	
Engineering @ 10%						
Total Cost	- -	 			 	
Engineering @ 10%		1				
Total Cost		1				
GRAND TOTAL COST					\$	43,297.42
L						

STORM SEWER PLANT VALUE

(Schedule 'A' / Storm Pipes)

6002 Cottage Grove Rd Rezoning (Copps) #2331

53B2331

PIPES

Description	Quantity	Unit	Ur	it Cost	Total Cos	t
12" RCP Storm	91	LF	\$	69.90	\$ 6,3	61.27
Engineering @ 10%						36.13
Total Cost			\$	76.89	\$ 6,9	97.40
15" RCP Storm	562	LF	\$	44.41	\$ 24,9	56.80
Engineering @ 10%					\$ 2,4	95.68
Total Cost			\$	48.85	\$ 27,4	52.48
18" RCP Storm	185	LF	\$	45.11		45.35
Engineering @ 10%						34.54
Total Cost			\$	49.62	\$ 9,1	79.89
21" RCP Storm	416	LF	\$	48.86		23.83
Engineering @ 10%						32.38
Total Cost			\$	53.74		56.21
24" RCP Storm	266	LF	\$	51.46		89.10
Engineering @ 10%						68.91
Total Cost			\$	56.61	\$ 15,0	58.01
Engineering @ 10%			+			
Total Cost						
Engineering @ 10%			+			
Total Cost						
Engineering @ 10%						
Total Cost						
Engineering @ 10%						
Total Cost			_			
Engineering @ 10%						
Total Cost						
Engineering @ 10%						
Total Cost						
Engineering @ 10%						
Total Cost						
Engineering @ 10%						
Total Cost						
Engineering @ 10%						
Total Cost						
Engineering @ 10%			1			
Total Cost						
Engineering @ 10%			Ł			
Total Cost						
GRAND TOTAL COST		 _			\$ 81,0	43.99

Prepared By: ELD

Date: 8/8/2016

STREET PLANT VALUE

DOES NOT INCLUDE BITUMINOUS SURFACE WITH SIDEWALK

6002 COTTAGE GROVE ROAD - COPPS MARKET 53B2331

STREET

Description	From	То	Quantity	Unit	Unit Cost	Total Cost
Gemini Drive	Sharpsburg Drive	Cottage Grove Road	531	LF	\$ 75.65	\$ 40,170.15
43' WIDE						
MS LINK NO. 24767						
Cottage Grove Road	333 Ft. West of Gemini Dr.	Gemini Drive	333	LF	\$ 53.30	\$ 17,748.90
29' WIDE	(Westbound lanes only)					
MS LINK NO. 10445						
Cottage Grove Road	Gemini Drive	62 Ft. West of McLean Dr.	1030	LF	\$ 79.86	\$ 82,255.80
29' WIDE	(Westbound lanes only)					
MS LINK NO. 24768						
Г	7	T	I	T — — — —		
Г	7	T				
Г	7	T				
Г		T				
		L				
]			T — — — —		
		L				
]					
				<u> </u>		
L			<u> </u>	L		
L	J		 	↓	<u> </u>	
L			 	<u> </u>	┦ ————↓	
L			 	<u> </u>	√ ↓	
GRAND TOTAL COST \$ 140,174.85						
					-	

Prepared By:	CD
Date:	9/1/2016

STREET PLANT VALUE

SIDEWALKS

6002 COTTAGE GROVE ROAD - COPPS MARKET 53B2331

SIDEWALK

Description	Limits	Limits	Quantity	Unit	Unit Cost	Total Cost
Gemini Drive	Sharpsburg Drive	Cottage Grove Road	5360	SF	\$ 3.57	\$ 19,135.20
5'-6' WIDE						
MS LINK NO. 24767	L	L				
Cottage Grove Road	60 Ft. West of Gemini Dr.	Gemini Drive	256	SF	\$ 3.99	\$ 1,021.44
6' WIDE						
MS LINK NO. 10445		L			[
Cottage Grove Road	Gemini Drive	83 Ft. East of Gemini Drive	474	SF	\$ 3.78	\$ 1,791.72
WIDTH VARIES						
MS LINK NO. 24768		L			[
Cottage Grove Road	315 Ft. East of Gemini Dr.	756 Ft. East of Gemini Drive	3540	SF	\$ 4.04	\$ 14,301.60
8' WIDE						
MS LINK NO. 24768						
Г	T	T			1	
Г	T				1	
		T			1	
	†	†			† -	
	†	†			† -	
	†	†			† -	
 	†	 	tI		†	
	†	 	t		†	
GRAND TOTAL COST			•		-	\$ 36,249.96

Prepared By:	CD
Date:	9/1/2016

ENTER UNIT COST, RETURNS TOTAL COST

STREET PLANT VALUE

Cycle Track

6002 COTTAGE GROVE ROAD - COPPS MARKET 53B2331

SIDEWALK

Description	Limits	Limits	Quantity	Unit	Unit Cost	
Gemini Drive	Sharpsburg Drive	Cottage Grove Road	440	LF	\$ 38.29	\$ 16,847.6
B' WIDE						
MS LINK NO. 24767						
		+	;			
		+				
		-				
		+				
		+				
	<u> </u>					
		+				
			!			
						L
			T		1	
	·	+	 +		1	
					1	
RAND TOTAL COST						\$ 16,847.6

Prepared By:	CD
Date:	9/1/2016